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QUESTION PAPER SPECIFIC INSTRUCTION>

Please read each of the following instructions carefully before attempting questions :

There arc EIGHT questions divided in TWO SECTIONS and printed both in HINDI and 1n
ENGLISH.

Candidate has to attempt FIVE questions 1n all.

Questions No. 1 and § are compulsory and out of the remaiming, any THREE are to be
attempted choosing at least ONE question from each section.

‘The number of marks carried by a question/part s indicated agamst 1t.

Answers must be written in the medium authorized in the Admission Certificate which must be
statcd clcarly on the cover of thic Question-cum-Answer (QCA) Booklcet in the snace provided.
No marks will be given for answers wnltten 1n a medium other than the authorized one.

Word hinut in questions, wherever specified, should be adhered to.
Assume suitable data, if considercd necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank

in the Question-cum-Answer Booklet must be clearly struck oft.
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dqug ‘A’ SECTION ‘A’
1. frafafaa wel ¥ € Uds 1 39 150 9=El H Sl

Answer the following in about 150 words each :

1.(a) g & o form oo dafaar s @ & SR @]de ol © | 98 JFE 9 6 T

q forg peR B 2 7
Explain why the companics buy back their own shares. How 1s 1t different from
1ssue of bonus sharcs ? 10

1.(b) T & HAAT o FHAG GHETAT & Rl ®© a1 wHd Huior qu
"HIgE’ | T AT GeRd © 7 AT 39 Q1 gfFal uenal &l e WeR g a7
“Recognition of revenuc presents two basic problems, namecly timing and
measurement”. Do you agree 7 How would you solve these two basic problems ?

10

1.(c) A1 fome 9= & S et Ul " qvta 1 i g 6 gaR Eiia A S
firger ad & oo T3 @l @ e

What do you understand by the term Annual Value of house property 7 How would
you determine the annual value of let out house property which remained vacant
for part of prcvious year ?

1.(d) 3T IRV & 19 WE Hifqu & ‘wm 9wl dd gelt ara 8@ ol mﬁm
2 |

_.xplaln with suitable examples how ‘Shut-down Cost’ 1s different from “Sunk Cost'.
10

1.(c) ﬁamﬂuﬁﬁgmﬁmw&g,ﬁawmwaﬁﬁ@mﬁwaﬁm
A@TILEER ] & W @Al 916y |

Explain five major points that an auditor shall keep 1in mind while conducting audit
of a Chantable Trust. 10

2.(a) m%&@gaﬁt@%ﬁﬁmwﬁm 1 30, 2019 =7 3R I 0@ § 99E fom
T | S Al & FRIER & aWEd & [T =id g ffads & A9| 8 TS 13
FoAt =TS WS | 31 A, 2019 R ffa & sEw, w1 ol R g e«
JAaq A= feu 0 2

(¥ d1@ H)
fam aa fafes 97 fabes
(A) grfaea -
(i) I Y

gt (T100 dcdah) 2.000 1,600
15% e QR (Weded T100 &) 00 600
(i) gt ARidd 200 160
(i) FTATE FRIeAT 400 300
(iv) &g @rar 160 120
(v) 12% -9 (UdE 100 &) 192 160
(vi) =T 7T 408 190
4.160 3.130
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(B) wR@9faar :
(1) Tl gREataan 2,400 2,000
(i) 9T AiEataan, wo qur qium 1,760 1,130
| 4,160 3,130

(1) & fafreg 3R 77 foafiaes & sftmmr Serenfat & =2 st § 100 wfd &
15% ST QaR SRIeR-<0eR ge | v fau 2 )

% (2) A% FOAT 7 | ferfies AR qa fafieg & 12% fee=d it 7 S & qamm

T H 16% H0-99, T100 9fd A &< Huermm @ qarfe I3 Iad1 e
AT ) &H et @ |

- 3) = B ffe 3w ffte ¥ 10w 3 MR 5 e R am
- 7 fafies & vaw fFE R & foau s dfFd o s fen | <iw S
) ferfires &1 wess QX T100 sifhd g9 &1 © )

' ARl ted & qugu & A @ war axSd gamed feu S % 9s=T 01 3
, 2019 <1 afeh gl foffidg & qom-99 IR AT § |

sun Ltd and Moon Lid were amalgamated on and from Aprl 01, 2019. A ncw
company called Black-Hole Ltd was formed to take over the business of the above
two compantcs. The balance sheets of Sun Ltd and Moon L.td as on March 31, 2019

are given below :

|
[ (¥ 1n lakhs)
! Particulars sun Ltd Moon Ltd
| (A) Liabilities :

| (1) Sharc Capital :
E Equity shares of 100 each 2.000 1,600
| 5% preference shares of 2 100 each 200 600
(11) Revaluation Reserve 200 160
| (iii) General Reserve 400 300
: (1v) Surplus Account 160 120
(v) 12% Decbentures of 100 each 192 160
l (vi) Current Liabilitics 408 190
4,160 3,130

| (B) Assets :

| (1) Fixed Assets 2,400 2,000
' (11) Current Asscts, Loans and Advances 1,760 1,130
4,160 3.130
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Additional Information :

(1) Preference shareholders of Sun Ltd and Moon Ltd have received the same
number of 15% preference shares of €100 cach in the new company.

(2) 12% Debentures of Sun Ltd and Moon Ltd are discharged by the new company
by issuing adequate number of 16% Decbenturcs of 2 100 cach to ensure that
they continue to receive the samc amount ot interest.

(3) Black-Hole Ltd has issued [-5 Equity shares for each Equity share of Sun Ltd

and | Equity share for cach Equity share of Moon Ltd. The face value of shares
1issued by Black-Hole Ltd 1s 100 cach.

You are required to prepare the balance sheet of Black-Hole Ltd as on Apnl 01, 2019
after the amalgamation has been carried out using the “Pooling of Interest Method™

20
2 fafmtn st as yaem =Rk fafafaa €, faog a9 = fvfa st @
fraTm HAT TF FIAAT qTS
AT SHIA 90% 60%
fashl (3 o o) 540 300
Tiad] drd (3 9@ ") 396 9
fraa ara (3 9@ /) 30) 50

7% " g0 {6 yeaE smttea fear s 8, aikead i

(i) Taafaa qaa7 " aqaa-eR fhl 5tk 99 @R 9 4Har &1 UG |
(i) 80% &THAT IUART TR {9 @9 &l ATHHIT |

(iii) ¥ 75 @ 1 GATHE AT FA & fou foafa g93 & =i |

(ivy s foerfa vaa ¥ 75 9@ & g% 1 Afid e & gmar ) y=Eed 8, a4l
g Sufiera # 5% &t afg ot s= 10 @ & oo fasht dma # foraet wiaeraan
gfg 6 Aa@FaT BNl 7

Two manufacturing companies which have the following operating details, decide to
merge :

Particulars Company X Company Y
Capacity Utilization 90% 60%
Sales (¥ 1n lakh) 540 300
Variable Cost (¥ 1n lakh) 396 225
Fixed Cost (¥ 1n lakh) 80 50

Assuming that the proposal is implemented, calculate :

(1) Break-even sales of the merged plants and capacity utilization at that stage.
(11) Profit of the merged plant at 80% capacity utilization.
(111) Sales of the merged plant to earn a profit of ¥ 75 lakh.

(iv) When the merged plant is working at a capacity to earn a profit of ¥ 75 lakh,
what percentage increase in selling price 1s required to sustain an increase of
5% 1n fixed overhead. 15

SDF-U-COMA 4
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2.(c) =4t &ifvu & gEex yareA & tau it & gerima da t6m ger Ay

& SEr 2

Discuss how the residential status of an assessee 18 determuned for mmcome tax
purposes / 15

3(a) AW U AR § ek FHERT § SR IeRl wiival FEfaiad @
(i) 99 - 30,000 T WiIATE
(i) FETE W (S I da1 e ol # nfie ger ) - F|E # 60%
(i) ATt dem AT # sieeE - 3,000 ¥ WioHTE
(iv) 999 FroF1 |/ AR o1 seEE - 3,000 3 WiaHTS
(v) 3% fram & @uiaa 96 Jm 9 & gieed 991 - 2,800 ¥ wiaHTe
(vi) wfatrgfe = (3 7em & faw) — 3,000 ¥ HIqHTE

* (vii) EhR W1 - 2,000 ¥ WiATR
(e W # I snfem & sifafai | 12,000 ¥ =1 o)

(viil) I ﬁ%fcﬁ fqarg gﬁw o T B | Stk HaE W@l (ﬂlq(‘l"t‘l FIE 2,000 3
yforme fuifa 6 2 2 | @R A SH US A1g ¥ T H FAER Iad el
gugn gq fem @ fomem smafafaa g=2 75,000 @ 2

(ix) 378 01.10.2018 ¥ U AlaR AR ATRGR & Giaam < T3 ¢ Fidd YdF &l
499 3,000 ¥ wiiwTe @R gRT YAE T S @1 ¢

(x) I 50,000 ¥ FF & Uk U Irich wATHT Gt FET a1 sl ITNT &
fou fem w2

(xi) 01.10.2018 F Ieid 9 fHFIh & Q1 &M@ T & FKU HAIGFR @ & (ol
6-25% 1 Famdt =ae g W foeran | 3@ ww H AmHl @ ¥ 10,000 FiqHTE
01.01.2019 & WRH TF | 01.04.2018 Tl WRAA L ek i AT & 9-25% 4T |

(xii) a9 A foeex w & Fgud Efataa 2
(a) STeq =\ wifaam .

i

& foro 10,500 3 (w1 Tl §1 1@ F)

gl & fou 12,000 T (S iYW UF A )

At & fou 8,000 F (S mﬁwawrr@?)

TUEF gﬁﬁ?ﬁ—lﬂ 8000 T (SN I T AT ALT 2
®e dg s & difsd ), a'imtrfiw{—mw%)

mit =ftar arferfaar 2014-15 & 9@ 99 H off WA
(b) Tlisqes Widise %2 # 1 TR — 5,000 3
(c) THT A Sl Holl H Ug el & Il I B ~ 6,000 *
(d) <iad s M & gem gq foau @ e 6l amEl (3a 9, - 36,000 2
qitahel iU
(i) 999 3™
(i) ¥R 80 C & oed Fordl & (U 3Keh T |

5 SDF-U-COMA
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Mr. X 1s a Government cmploycee at Ludhiana and 1s getting {ollowing emoluments :

(1) Salary - ¥ 30,000 per month

(1) Dearness Allowance (enters) — 60% of salary

(1) Contribution in Notified Pension Scheme - 3 3,000 per month

(1v) Employer’s contribution to Pension Scheme — 3,000 per month

(v) Transport Allowance for commuting between home and ottice — ¥ 2,800 p.m.
(v1) Deputation Allowance (for 2 months) — ¥ 3,000 per month

(vii) Entertainment Allowance — ¥ 2,000 per month
(During the year, he spent ¥ 12,000 on entertainment of official guests)

(viii) He has been provided with a rent-frece accommodation. The licence fee for the

accommodation has been fixed at ¥ 2,000 per month. The government has
also provided him with furniture items cosing ¥ 1,00,000 (WDV - ? 75,000)
for his personal use.

(ix) He has been provided with the facility of a servant and watchman w.e..
01.10.2018 and the government is paying ¥ 3,000 per month to each of these
servants.

(x) A laptop costing ¥ 50,000 has been given to him for his official as well as
personal purposes.

(x1) On 01.10.2018 he took a loan of 2 2,00,0C00 from his employer to buy a car

at a concessional rate of mnterest of 6-25%. The repayment of loan started w.e.f.
01.01.2019 @ < 10,000 per month. SBI rate of interest as on 01.04.2018 was

9-25%.
(x11) Duning the year savings made by Mr. X were :

(a) LIC Premium :
For Self ¥ 10,500 (sum assured ¥ 2,00,000)
For Spouse ¥ 12,000 (sum assured < 1,00,000)
For Mother ¥ 8,000 (sum assured < 1,00,000)
For Major Son ¥ 8,000 (not dependent on him but is suffering from

disability) (sum assured < 50,000)

All life insurance policies were taken in the previous year 2014-15.
(b) PPF Deposits : ¥ 5000
(¢c) Tuition Fees of Second Son studying in a College T 6,000
(() Repayment of Housing Loan from LIC (Principal Portion) — ¥ 36,000
Calculate :

(1) Salary Income

(i) Qualifying amount for deduction U/S 80 C. 20

SDF-U-COMA 6
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3.0b)  &STEd €AY W GHAD © ¢ U UHEATAT ¢ U] & A9 ded M7 B © 7

wcﬂqﬁmﬂﬂzwé?

What do you understand by budgeting 7 What are the cssentials of effective
budgeting system ? What are its limitations ? 15

3.c)  Tobm smenfim < frufor (watd@r,) wonelt o e R ? 9% UEREd and
trafer worre | foeg wer fimm € 7 foran smenfa s fawfcor gomeft @ @R axa
% IO Pl TE HIfIU |

What 1s Activity Based Costing (ABC) system ? How 1s it different from Traditional
Costing System ? Explain the Steps to implement ABC system. I3

4.(a) HO PE & FHA AR AEEEHAT H WE HIVC | G gA A At @ifafy
(Be dra #ug) R auifafag qeafafy (Rea sea 9 ) & <= faseq
AT | H G @@ & AS-6 & IaR fadig faaoon & 91 & gam e sm
el 7

Explain the nature and need for depreciation. Distinguish between straight line
method and diminishing balance method of depreciation. What disclosures are

required to be made 1n financial statements as per AS-6 on depreciation accounting ?
20

4.(b)  IAEGIRE @IEA FT § ? TS ORIt H gt 3R gEenst & ww

ST |

What 1s Responsibility Accounting ? Explain the prerequisites and the problems in
1ts implementation. 15

4.(c) AR & y=wu damden 4 e yer fm gar € 7 fea ofkferfaat 3 <y
R Tt SrAl & A<= & Ay ¢ Ghdl ¢ ?

Explain how investigation 1s different from that of Auditing. Under what

circumstances the Central Government can order for investigation of a company ?
15

97g ‘B>  SECTION ‘B’
5. FTeIliad U § @ Yodd ol IO o9 150 =er | E'T%IQ :

Answer the following m about 150 words each :

5.(a) A sttt TEy v o Sfa Sew w9 @, e we Sawntar i
g1 A ATYFIAHROT & GH Tehitedeh Aol g | GHIET Hifsry |

“Maximization of profits i1s regarded as the piope: objective of investment decision,
but it 1s not as exclusive as maximmzing shareholders’ wealth” — Comment. 10

5.(b) UEH @l AT e ATHIY WA Gl Al S ATE aRAT F1e | T 39 Hend
e ? I FgAl T Al ?
“A firm should follow a policy of very high dividend pay-out”. Do you agree ?
Why or why not ? 10

7 SDF-U-COMA
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s(c)  SAETE-Iivm faseww ® g fam @ smen S |

Explain ‘Indifference Point’ (IP) in EBIT-EPS analysis. | ()
s5.(d)  wafm amr sk fgdioes aem F s fawea i |
Distinguish between Primary Market and Secondary Market. {0

5.(e) “g’g‘i:mﬂ ﬁ'ﬁj F HIETH l}[ ‘;Iﬁ*{f:—'l'a}[ H ﬁa‘ﬂ hA] UcUdH ﬁTaQT ?}f é‘éd( &lf-hf."-l % IH

r {™
T YA T G0 I

“Investing in sccuritics through Mutual Fund is a better choice than direct
investment” — examine the statement.

10)

6.(a) UE FFA a wiwml ang oA frafafed e wem wwa w

Fed HIA & AR Wid 3T
Ycddl AH Glr:;i Ad gﬁ[ Schl3
T AR WA SRS

Fd AN Fid 3HIE
A ufd Zers

EERI IR CEECHE
Afafes SR -

< /0
T 3D
<
< 160
W)
ey |

(i) F=a1 AT 3Eaq U 78 & U wiem # @dl R
(it) Wiel sEaa e AeeT Wik # @dr 8 |

(iii) IR AT A Uk HE & U we 7 Gl ¢ |
(iv) safdealstl g1 v we @1 9UR wigd ¢ |

(v) SER] <l T HIg & SUR @igd ¢ |

(vi) G & e 1L @wre @ faera edar € |

(vii) Safemal & Y | U A

(viii) TH-9IITE IcaIGA Fag &=

g & o Bl ¢ |

iG-S

(ix) TE® AR FF # AH 2,50,000 T @ H A B AT € |

~,

JTOR IETE S 1.04.000 AT i fFenefier & &R 1 fam-amer &R & iAo
e Frefie deft ety BU Us feRw dgR @Rl R | oY A8 AH Hd © I

Jeqre 94 W1 U gHE €9 ° =

SDF-U-COMA
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A proforma cost sheet of a company provides the following particulars

Raw Material Cost per Unit
Direct Labour Cost per Unit

Overhead Cost per Unit

Total Cost per Unit

Profit per Unit

Sclling price per Unit

Additional [nformation :

(1) Raw Matenals are in stock on an average for 1 month.

(1) Matenals are 1n process on an average for - month.

T 70
¥ 35
55
2 160
¥ 25
3 185

(111) Finished goods are in stock on an average for 1 month.
(1v) Credit allowed by Suppliers 1s 1 month.
(v) Credit allowed to Debtors 1s 2 months.
(vi) Lag in payment of wages is 15 weeks.

(vi1) Lag in payment of Overhead expenses 1s 1 month.

(viii) th of the output is sold against cash.

(1x) Cash n hand and at bank is expected to be ¥ 2,50,000.
You are required to prepare a statement showing the working capital needed to
finance a level of activity of 1,04,000 Units of production. You may assume that

production 1s carmied on evenly throughout the year, wages and overheads accrue
similarly and a time period of 52 weeks 1s equivalent 1o a year and 4 weeks is

equivalent to a month.

20

feferfiad a4, dcgy fafy &1 3@He aRd §U, & WH &l gRdATed
fraradTal & g YaATE & IR ity ;

(A= 31, 2019 99 S T TH)

S 9 AT ! TR

ICIERL

ERG!

JT WiHay

A5

FfaRs {F!WT@
ferawm

¢TI

gy fere

ATGIE

[SAE

e dad

gdqd SH HiHaH

ra—

3
?
X

4
4

1,00,000
1,50,000
12,000

3,000

10,000

01.04.2018

A AL A AL A Ay

18,000
7,000
8,000

20,000
2,000
1,000

01.04.2019
< 25,000
< 4,000
¥ 6,000
< 25,000
< 3,000
< 1,000
SDF-U-COMA
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From the following information ot a firm, calculate the cashflow from operating

activitics by applying Direct Method

(For the year ended March 31, 2019)

Cost of Goods sold < 1.00,000
Sales = < 1,50,000
Salaries - T 12,000
Insurance Premium - 3 3,000
Dcpreciation — < 10,000
Additional Information :

Particulars 01.04.2018 01.04.2019
Dcbtors ¥ 18,000 < 25,000
Bills Receivables T 7,000 < 4.000
(Creditors T 8,000 < 0,000
Stock < 20,000 T 25,000
Salaries Outstanding 7 2,000 X Y 3.000
Prepaid Insurance Premium < 1,000 < 1,000 15

6.(c) ot g fvtaa & gab@ e s SaRm @ e S
[llustrate the Net Income Approach relating to capital structure decision making.
15
7.(a) e ferfiee ol fasr FsTat o @ A & o 10 @ ? #0 slaies o

AT FTE © | FPOA & U Ay & 32w v wiauTa 3@ &% 'Y OH 2.10,000 3
9= ¢ | sifaler =R eEfafeg g

(i) o7 - EFael tayo

(i) 0T 6l dFE ¥ 1,80,000 deh

30% - 70%
10% (IR § Teo)
16% (< & d8)

T4

(iii) 0 & FANE T 1.80,000 F oG —
(1v) A gtd IR
(v) ST I

S0% (3 <)

(v1) AT H Hqtera faema ) — 1N
(vii) A SR e wid 9K 3 44
(viii) &R Hl T ~ 50%

SDF-U-COMA 10
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7.(b)

Aepl TqeteTtad & ¢

(a) Sl fr s 2 whiew Frafon

(b)y AfAh o &I wR-9v=d SiEd AN &1 iR |
(c) wiaenika aima vd fFadt gt H ama F fqeior |
(d) #fates fag & - o909 TRied dad qEd & IR |
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Akash Limited wishes to raise additional finance of 3 10 lakh for meeting its

investment plans. It has ¥ 2,10,000 in the form of retained earnings available for
investment purposes. The following are the further details

(1) Debt - Equity Mix

(11) Cost of Debt up to ¥ 1,880,000

(111) Cost ot Debt beyond ¥ 1,380,000

(1v) Earmings per share

(v) Dividend pay out

(vi) Expccted growth rate in dividend

(vi1) Current market price per share

(viin) Tax Rate

You arc rcequired to :

30% — 70%

|0% (before tax)
16% (before tax)
T 4

50% of eamings
10%

< 44

50%

(a) Dctermine the pattern for raising the additional finance.

(b) Determine the post-tax average cost of additional debts.

(¢) Determine the cost of retained carnings and cost of cquity.

(d) Compute the overall weighted average after tax cost of additional finance.

20

frfdfad SHaR | gt 31 A9 2019 &0 U AR & gA[9d dOR FRAT ©

=le] AUl
A AT
AT AT
Hehel ATH 9T

ARTETAT U AT &1 it 3 A9

SIUEIA RO g HE " AU

fer afwata &1 9g 79 7 Fqad
CLECIARCIRCE T

]

——

—n

1-60 . 1
1-10 : 1.

6 T

20%

1-92 HEM
1-25 A
0-25: 1

05 :1
120 : 1
7.50,000 ¥

SDF-U-COMA
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8.(2)

8.(b)

8.(C)

From the following information, you are required to prepare the balance sheet of
A Ltd as on March 31, 2019 :

Current Ratio — [-60 : 1

Liquid Ratio - 110 - 1

Inventory Turmnover | O times

Gross Profit Ratio 20%

Debt Collection Period — 1-92 months

I1xed Assets Turnover - .25 tiumes

Rescrves and Surplus to Capital - 025 0|

Long Term Loan to Nct worth - 051

Fixed Assets to Net worth — 1-.20 : 1

Sales for the vear -~ < 7,50,000 15

Houd U, F& g 7 EL.UULUE, G0 & TeF HMI-H 8 ¢ Tdd qed &l Y
qUAT | 9E BN U SEd R ey W osmavas ufehe & R "R edardn § 7

What 1¢ CAPM ? What are the components cf CAPM equation ? Explam the
meaning of each componant. What does it tell us about the required return on a risky
investment 7/ 15

HURe YHlea 8 HATYHl #471 Aadd B 7 30 Il I ERA@T T ST | Hidie
giza & fqu seme i oA arelt fafis aedien @ e S |

What do you mean by corporate restructuring / Outiine its objectives. Explain the
various technigues used for corporate restructuring. 20

TE AR HA € 7 FHeh STers SR Wl W=l i |

What 1s ‘Money Market’ ? Discuss its features and functions. 15

grfvifsas & & fafirs vt w == S

Discuss the various functions of a commercial bank. 15

SOF-U-COMA 12
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